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                    TIME: 2 HOURS   
INSTRUCTIONS: 
 ANSWER QUESTION ONE (COMPULSORY) AND ANY

 
 OTHER TWO QUESTIONS

Question one
a.
Find the derivative of 
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 from the 1st principles.

(4 marks)

b.
Find the stationary points of the curve 
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 and determine their nature.








(5 marks)

c.
Find the equation of the tangent to the curve 
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 at the point where 
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(6 marks)

d.
Find the derivative of 
[image: image5.wmf]]
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(3 marks)
e.
Find 
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 given that:-
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(5 marks)


ii.
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(3 marks)

f.
Find :-
[image: image9.wmf]








(4 marks)
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Question two
a.
If  
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in its simplest form.


(5 marks)
b.
Find the derivatives of the following functions:-


i.
[image: image14.png]y = ¥ sin 3x
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(3 marks)
ii.
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(4 marks)
iii.
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(4 marks)
iv.
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(4 marks)
Question three
a.
Given the function 
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Find 
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 by implicit differentiation at 
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(6 marks)
b.
Given that 
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Find 
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in terms of u






(9 marks)
c.
If 
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(3 marks)
Question four

a.
Find the area of the region bounded by the curve 
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(6 marks)

b.
Find the derivative of 
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(5 marks)

c.
Given that 
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Find 
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(5 marks)
d.
Find the slope of the tangent line to the curve
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(4 marks)
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